FRE265FE 160

REThPEEIR HARKES

)

oir UN—FRDIEH

155 B (ZRAR D307 A,

2R BB UKL, BIORAD4EET B

A=B7E
=HREN $£188 118168 A=FER
118168 £288 118228 = 118238 118238
=40 830 £388 118248 &5 10:00
BEI 9.00 $£488 12868 P 11:30
OHNKIZEFE., OHNEEFEAS. AHNPIEFENS. FC Rl IO == . o
A 11816H 11822H 11824H 12H6H
H B H I
el 7:00 7:30 7:30 7:00
HLEKIG AE B CHl AE B AE B AE BmE
HE M 10:00 10:00 9:00 9:00 9:00 9:30 9:00
12:00 12:00 11:00 11:00 11:00
14:00 13:00 14:00
b FH =5 ¥H 7 =154 o]
& GF) kB (8) BER (A) . (H) B (2 BR (A) & G2
B 2% s £ IEE 2% g 2%
& H H*E % H* .t =H ® =
HLEE JEH pitas) M
- ARF ARF ARF
GEEER 2 EN BER 8 L AR L 5 &L
e HF #]BAR =5 FHH HF e HF #]BAR
5H SFH FilN SFH % H =iE % H SFH
BIF5ED AH 1= Fy B AH 1= Fy B AH 1=
o/hNR oEH omtE ofkH o FH olhNR ofkH ormtE
ATE ALEH ALK (5) AEH ALEH IN=F: AEH AR (H)
ER 725 ABEHF BB 75 ER BB AEH
1L fif] HE #HR FRAE HE 1L fif) R4 #R
38 52 B I Ba BIR T8 Ba HH T8 AR
— L) = =& (=E BE =15 (= = ke
o A =i (B FE FigE (F0) =g (B o H FiE (F0) FE
N f8E A (f2) e ®mE PN e AR (&)
B =1 fif] A R*F =1 aH R*F AR
g FE (B BEXR AR FiE () i AR 'K
nAEGERE  CHTFSEK - FHEISR - BHESE - E=Hshk




